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 :  الوضعية الإدماجية 
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  :ولالتمرين الأحل 

1𝐴B𝐶𝐷

3

   :ثانيالتمرين الحل 

1

      350000 ÷ 50000 = 7 𝑐𝑚 
2

(7 + 12.5) × 50000 = 975000 𝑐𝑚 
9.75 𝑘𝑚 

:  لثالتمرين الثا

1 

2

              𝑉 = 4 × 3 × 6.5 = 78 𝑐𝑚3 
3

39

6

 :  الوضعية الإدماجية حل 

1

                           𝑉 = 𝜋 × 𝑟2 × ℎ

                      𝑉 = 3.14 × 9 × 18

                           𝑉 = 508.68 𝑚3

  𝑉′ = 508.68 ÷ 2 = 254.34 𝑐𝑚3  

2

                                    𝐴 = 𝑝 × ℎ 
                       𝐴 = 2 × 𝜋 × 𝑟 × ℎ 

                𝐴 = 2 × 3.14 × 3 × 18 
                            𝐴 = 339.12 𝑚2 

𝐴 = 339.12 ÷ 2 = 169.56 𝑚2 
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